Supplementary Figure 4) Nomograms for both models

Laparoscopy model nomogram
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Instructions

Calculate individual risk in three steps:

1. For each variable on the left, read off corresponding points above
(Fibroids and Endometriosis and pain do not score in the nomogram)

2. Add up points to get a total score

3. Determine the corresponding probability of a major complication
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Abdominal model nomogram
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Calculate individual risk in three steps:

1. For each variable on the left, read off corresponding points above
(Obesity does not score in the nomogram)

2. Add up points to get a total score

3. Determine the corresponding probability of a major complication
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